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Topic 1: Average of two numbers

Problem 1: Find the average of 12 and 18.
Answer: The averageis (12+18)/2=30/2=15.

Problem 2: Calculate the average of 25 and 35.
Answer: The average is (25+35)/2=60/2 = 30.

Topic 2: Introduction to summation notation

Topic 3: Mean of a data set

Problem 1: Find the mean of the data set {4, 8, 12, 16}.
Answer: Mean=(4+8+12+16)/4=40/4=10.

Problem 2: Calculate the mean of {7, 9, 11, 13, 15}.
Answer: Mean=(7+9+11+13+15)/5=55/5=11.

Topic 4: Computations involving the mean, sample size, and sum of a data set

A basketball team had a mean score of 53 points per game. The total number of points they scored is 954. How many games have they played?

18 Cgens)
53

Topic 5: Finding the value for a new score that will yield a given mean

Martina has scored 71, 78, and 66 on her previous three tests. What score does she need on her next test so that her average (mean) is 71?

Y test> 2\ x4~ 28 J‘OF‘I FQM{?
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Topic 6: Rejecting unreasonable claims based on average statistics

A job placement agency advertised that last year its clients, on average, had a starting salary of $39,500. Assuming tha
following claims must be true based on this information?

Note: More than one statement could be true. If none of the statements is true, mark the appropriate box.
f Med gu

Last year fewer than half of their clients had a starting ) X
salary of $39,500 or less. Cilse

Last year at least one of their clients had a starting salary of

o exactly $39,500. = (e @ ALL H's o
G
o Last year at least one of their clients had a starting salary of 205
more than $42,000. = 500
False gqm) -;qgoo/ )QSW‘W
o Two years ago some of their clients had a starting salary of ﬁ\,s e 2 Q500
at least $39,500. Frlse
— 34300
=
o Last year all of their clien;s had a starting salary of S0 \owss rHM

lo]
$39,500 or above. £, /o Soma gl flom 345
/ ij 1 39500

/
(" None of the above statements are true.

An investment company advertised that last year its clients, on average, made a profit of 8§%.
claims must be true based on this information?

Note: More than one statement could be true. If none of the statements is true, mark the appr

Last year at least one of their clients made a profit of s %
exactly 8%.

O  Last year all of their clients made a profit of 8% or more.

Last year fewer than half of their clients made a profit of

O 8% or less.

This year some of their clients will make a profit of at least
O o

8%.
Last year some of their clients made a profit of

more than 5%.

(O  None of the above statements are true.

Topic 7: Weighted mean: Tabular data

The following summarizes the number of fiction books read last summer by a sample of 38 students at a certain college.

Number of students = Number of books
4xz =&

. 2 | 3!313)2
=27
9 1 & 3 ‘ 3,322 e e ac?
KXY = 0
15—y 4
: e & =59
2 —% 5 S
T 45"

What is the mean number of books read? Round your answer to at least one decimal place.

LAY

‘ —3.32
-1 s

Problem 1: A course has 3 tests (weight 20% each) with scores 80, 85, 90, and a final
exam (weight 40%) with score 95. Find the weighted mean.

Answer: Weighted mean = (0.2 x 80) + (0.2 x 85) + (0.2 x 90) + (0.4 x 95) =16+ 17 + 18 +
38 =89.

Problem 2: A grade has 2 quizzes (weight 25% each, scores 70, 80) and a project
(weight 50%, score 90). Calculate the weighted mean.
Answer: Weighted mean = (0.25 x 70) + (0.25 x 80) + (0.5 x 90) = 17.5 + 20 + 45 = 82.5.



Topic 8: Median of a data set
Problem 1: Find the median of the data set {3,7,9, 12, 15}.
Answer: Ordered set: {3, 7, 9, 12, 15}. Median is the middle value, 9.

Here are the weights (in pounds) of a sample of 11 male eleventh graders.

172, 169, 171, 171, 162, 167, 142, 173, 157, 165, 171
((send data to calculator ) (Send data to Excel )

O
Find the median weight of these students. 7,169, 171,171, 171, 172, 173

Calculator

~

e | o | o
x 2 3 Sy

Problem 2: Calculate the median of {4, 8§, 10, 6}.
Topic 9: Mode of a data set
Problem 1: Find the mode of the data set {2, 4, 4, 6, 8}.
Answer: Mode is 4, as it appears most frequently (twice).
Problem 2: Determine the mode of {1, 3, 3,5, 5, 7}.
Answer: Modes are 3 and 5, as each appears twice (bimodal).
Topic 10: Mean, median, and mode: Computations
Calculator =L

To inspect manufacturing processes, companies typically examine samples of parts for deficiencies. One company that manufacf
of its manufactured pens on each of 10 days. The company recorded, for each sample, the number of defective pens in the sam
17,15, 17, 16, 20, 20, 8, 20, 12, 17 2,15, 16,17, 17,17, 20, 20, 20

((send data to calculator ) ("Send data to Excel )

(2) What is the median of this data set? If your answer is not | 17 de Qo Store | Recall | Undo
an integer, round your answer to one decimal place. L 3= n
(b) What is the mean of this data set? If your answer is not an ‘k . = >
integer, round your answer to one decimal place. L D Sume=TN Soth OO ( )
(c) How many modes does the data set have, and what are O/zeromodes Jx n log In
their values? Indicate the number of modes by clicking in the | & one mode: D Uile So-t
appropriate circle, and then indicate the value(s) of the V| =2 B e 10% e
mode(s), if applicable. © twomodes: 17 and 20

y Ha) to *h Fo

‘ el ORI (D A
P8, s x + n

Topic 11: How changing a value affects the mean and median

The numbers of trading cards owned by 10 middle-school students are given below.
(Note that these are already ordered from least to greatest.) 0:31\"‘“ FARA89(
” m ——

Ses
395, 476, 506, 507, 528,541, 555, 573, 588, 601

2
(Send data to calculator) Y76 S6b &6) Sl) S‘ﬂ&fr %s_s@
S§E Gor

Suppose that the number 395 from this list changes to 565. Answer the following.
/‘U@\ﬁ/ ‘,‘Mamw

(a) What happens to the O It decreases by | J.
mean? - " " Sf
O Iltincreasesby 17. QL( ( 4 SS >
it S P
O It stays the same. 2
(b) What happens to the It decreases by |
median? - D T ==,

@ 1t increases by I:l n.s [ &




| () It stays the same. I

I g
) X o=~ o
3.5

To find mean: Use ALEKS calculator and the summation button and divide by how
many there are.

Orignial mean: 527

New mean: 544

544-527 =17

Increased by 17

Topic 12: Choosing the best measure to describe data

(a) The following number of people attended the last 9 screenings of a movie:

195, 196, 198, 200, 201, 203, 204, 207, 209. \q S- ,\’)__GQ-\
Which measure should be used to summarize the data?

@ O Median O Mode

(b) In a survey, 9 people reported how many soft drinks they drank in the last-aro . Here are their
responses:

28,29, 30, 33, 35, 36, 37, 3§(86. ) 22 ~2%

Which measure should be used to summarize the data?

O Mean C O Median p) O Mode

(c) Each member of the football team was asked to report the year he was born.
Which measure gives the most common year of birth?

O Mean O Median (W\)

FE————nr )

Topic 13: Comparing the mean, median, and mode of a data set

USH Financial is examining the use of its midtown ATM machine. The numbers of transactions made in a day at this ATM for the past 21
3
2 54,57, 62, 64, 66, 68, 71, 775, 77,79, 79, 81, 81, 85, 88, 94,97

( Send data to calculator : ( Send data to Excel ) /M{C’i'.d/”

Frequency

10 9

8

6

4 4
4
2 2

2

ol

50 60 70 80 90 100
Number of transactions

Answer the questions below.

()Mean
(a) Which measures of central tendency do (IMedian
not exist for this data set? Choose all that 5

apply. o

(LAl of these measures exist

(b) Suppose that the measurement 54 (the |.&Mean

smallest measurement in the data set) were | )Madjan
replaced by 12. Which measures of central | _
tendency would be affected by the change? (OMode

Choose all that apply. (_INone of these measures
(c) Suppose that, starting with the original (efean
data set, the smallest measurement were "Bﬂﬁn_ o e 7

removed. Which measures of central N
tendency would be changed from those of [Mode
the original data set? Choose all that apply. |(JNone of these measures
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